;> restart
> f(t) = 5-exp(2-1)

i f(1)=5¢"
> plot(f(t),t=-1..1)
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(> L:=1
i L=1
> a[0] = %-im‘(f(t),t=—L..L);evalf(%,5)
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ap: —Ee +?e
i 18.135
> C:= %;evalf(%,S)
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> a[n] = subs(sin(n-Pi) =0, cos(n-Pi) =(-1)", 1 -int
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a,:= Q)
i Tc2n2+4
> b[n] = subs(sin(n-Pi) =0, cos(n-Pi)=(-1)", %-int(f(t%sin( n-LPi -t), t=—L..L)j
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2
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> STFf = C—i—Sum(a[n]-cos( n'LPI

n-Pi

~t) +b[n]~sin( 7

-t) ,n=1 ..inﬁnily)
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2 n -2 n .
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i n-Pi . ( n-Pi B
>STFf500:=C+sum(a[n]-cos( 7 -t +b[n]-sm( 7 -t),n—l..SOO :
(> plot(STFf500,1=-1..1)
301
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t
> f(1)
5¢° ®)

=> plot(f(t),t=-1.1)




> STFf1000 == C +sum(a[n]-cos(
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> plot([ f(¢), STEf500], t=-0.01..0.01)
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> plot([ f(t), STEf1000], t=-0.01..0.01)
5.101

-0.010 -0.005 0 0.005 0.010

t
> =5
| L:=5 )
> aa[0] == %-int(f(t),t=—L..L);evalf(%,7)
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aag: ) + 5 €
i 11013.24 (10)
_ aal0]
> CC := ) ;evalf (%, T)
—_ L -0, 1 10
CcC: 4 e+ 4 e
i 5506.618 (11)
> aaln] = subs(sin(n-Pi) =0, cos(n-Pi) =(-1)", %-int(f(t)cos( n'LPI -t), t=—L..L))
10 , q\n -10 . 4 \n
o 5(10e” (-1)"—10e" " (-1)") 12)

T n* + 100




> bbn] = subs(sin(n-Pi) ~0, cos(n-Pi) = (-1)", - -int(f(t)-sin(
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‘t|,t=-L..L
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L
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> STFFf:= CC —i—Sum(aa[n]-cos(

-t) —I—bb[n]-sin( nLPi -t), n=1 ..inﬁnily)

L
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> STFFf500 .= CC +sum(aa[n]-cos(
(> plot(STFFf500,¢=-5..5)
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> plot([ f(t), STFFf500], t=-1..1)
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> STFg = Sum(b[n]'sin(

-0.5 1
_17
L=1
ag: 0
C=0
l‘),t=—L..L)
a =0
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nLPI -t) ,n=1 ..inﬁnity)
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> b[n] = subs(sin(n-Pi) =0, cos(n-Pi) =(-1)", %-int(g-sin(
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STFg = [— ( ) 22)
| n=1 nt
. ( n-Pi
> STFg500 = Sum(b[n]-sm( -t),n=1..500) :
(> plot(STFg500, t=-1..1)
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> plot([g, STFg500], t=-0.01..0.01)
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=> restart
>hi=¢

> plot(h,t=-1..
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> L:=1
L L:=1 24)
> a[0] == %-int(h,t:L..L)

ag :Zg (25)
S C— a[20]

C:—; (26)

> a[n] = subs(sin(n-Pi) =0, cos(n-Pi) =(-1)", %-int(h-cos(
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‘t|,t=-L..L
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> b[n] = subs(sm(n Pi) =0, cos(n-P1)=(-1)", I3 znt(h sm( I3 t),t L..L))
b =0 (28)




> STFh = C—I—Sum(a[n]-cos(
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STFh = L + D Coi("m)
35 '
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> STFh500 == C+sum(a[n]-cos( 7 -t),n=l..500)
(> plot(STFh500,t=-1..1)
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;> restart
> f:= Heaviside( — 1) + (¢ —1)-Heaviside(t — 1) —2- (¢t — 2) -Heaviside(t —2) + (¢ —3)
-Heaviside(# — 3) — Heaviside(t — 3) : plot( f,t=0..5,y=-3.3)




> g =-Heaviside(z +3)- (¢ + 3)-Heaviside(t +3) +2-(¢ +2)-Heaviside(t +2) — (¢ + 1)
‘Heaviside(¢ + 1) + Heaviside(¢ + 1) : plot(g,t=-4..0,y=-3..3)
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=> h==f+g

h :=Heaviside(¢t — 1) + (¢ — 1) Heaviside(t — 1) —2 (¢t —2) Heaviside(t —2) + (¢ 30)

— 3) Heaviside(# — 3) — Heaviside(z — 3) — Heaviside(7 + 3) — (¢ + 3) Heaviside(z + 3)
| +2 (t+2) Heaviside(t +2) — (¢t + 1) Heaviside(t + 1) 4+ Heaviside(z + 1)
> plot(h,t=-4.4,y=-3.3)
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> STFh500 = sum(b[n]-sin(
(> plot(STFh500,t=-L..L)
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_> j = Heaviside(¢ +3) + (¢ + 3)-Heaviside(t +3) —2- (¢ +2)-Heaviside(t +2) + (¢ + 1)
Heaviside(¢ + 1) — Heaviside(¢ + 1) : plot(j, t=-4..0,y=-3..3)




(> k= j+f:plot(k,t=-4.4,y=-3.3)




> aa[0] = %'int(k, t=-L.L)

> aaln] = L-int(k-cos( n

aa =

n

+

aal[0]

L L

P1 -t), t=—L..L)

8 (cos(i nn) Jri sin(%nn) nn)

4 4

n2T52

1 1

16 (cos( ) nﬂ:) + )

sin(% nn) nﬂ:)

2 2
n T

(34)

(35)

(36)



> bb[n] = simpliﬁ/(

> STFk500 = CC —I—sum(aa[n]-cos(
[> plot(STFk500, t=-4 .4,y =-3.3)
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